Balance of Nature

Class Name
1. Classify the organisms classify : 5358
( ) : An organism that can make energy by itself. |organism : 44
[Green plants]
( ) : An organism that must eat plants or animals.
[Animals]
( ) : An organism that derives its energy from derive :EX Y H 9

decomposing matter.

Choices
Producer , Consumer , Decomposer ,

Herbivore , Omnivore , Carnivore

2. Are the following organisms Producers, Consumers,

or Decomposers?

( h I R P2 ~ £ e < 7 Y )
Crow, Rabbit, Snake, Sunflower,
* / a 4 7 DA * X = h =)
Mushroom, Wild boar, Mouse, Mold
h T 9 H AN P4 £ ES ES z
Frog, Grass, Grasshopper, Earthworm
. J
Producers Consumers Decomposers

3. The Food Chain and the Food Web

 Food chain : A ( ) relationship of predator and prey
that passes energy from one to another.
+ Food web : A ( ) relationship of organisms

that link together in an ecosystem.

Choices
simple , complicated

decomposing matter :
EY DT
producer : £EH
consumer : JHEE
decomposer : 7 fEE
herbivore : EBEY)
omnivore : BB
carnivore : AEEY
following : LL'F D

food chain : B Y&
relationship : B {%
predator : X541
prey : EXL5%EM
food web : B ¥#8
link : DM B
ecosystem : £HER
complicated : #E 7%



4. The things that you noticed and found from Activities.
'

BABETENTENNE !

5. The number relationship within the food pyramid.

( Large )

( Small )

( ) 7

( ) / \(

Number

If animals' number of one level increases or decreases,

the food pyramid ( ) to its original shape

after a few years.

6. If a big change happens in a "Food Pyramid,"

what will happen after a few years?
pa

BAZBTENTENKX V)

7. If a big change happens in a "Food Pyramid,"
what are the causes?

s

BABETENTENNE !

notice : LMD <

activity : {KERZE)

number : £{
relationship : E§{%
food pyramid :

BEMESI YR

increase : EN9 %
decrease : JH4 9 5
shape : 2

happen : ¥2Z %

cause : |R2 X




Balance of Nature

Class Name

1. Classify the organisms
( Producer ) : An organism that can make energy by itself.
[Green plants]
( Consumer ) : An organism that must eat plants or animals.
[Animals]
- ( Decomposer ) : An organism that derives its energy from

decomposing matter.

Choices
Producer , Consumer , Decomposer ,

Herbivore , Omnivore , Carnivore

2. Are the following organisms Producers, Consumers,

or Decomposers?

( hF R oY ¥ ~ E E < 9 1 )
Crow, Rabbit, Snake, Sunflower,
ES / | 4 . / P * X = h £
Mushroom, Wild boar, Mouse, Mold
h T 9 H N P Ed 3 3 z
Frog, Grass, Grasshopper, Earthworm
§ J
Producers Consumers Decomposers
Sunflower Crow, Rabbit Mushroom
Grass Snake, Wild boar Mold
Frog, Mouse,
Earthworm
Grasshopper

3. The Food Chain and the Food Web

 Food chain  : A ( simple ) relationship of predator and prey
that passes energy from one to another.
+ Food web : A ( complicated ) relationship of organisms

that link together in an ecosystem.

Choices
simple , complicated ‘]

classify : 7358

organism : £ %)

derive :EX Y H 9
decomposing matter :
EY DT
producer : £EH
consumer : JHEE
decomposer : 7 fEE
herbivore : EBEY)
omnivore : BB
carnivore : AR EY)
following : LL'F D

food chain : B Y&
relationship : B {%
predator : B ~54W)
prey : EXL5%EM
food web : B ¥#8
link : DM B
ecosystem : £HER
complicated : #E 7%



4. The things that you noticed and found from Activities.
'

L BABETENTENNE !

5. The number relationship within the food pyramid.

( Large carnivores ) Cspall)

( Small carnivores ) Number
( Herbivores ) 7

( Green plants ) // \ ( large )

If animals' number of one level increases or decreases,
the food pyramid ( will return ) to its original shape
after a few years.

6. If a big change happens in a "Food Pyramid,"

what will happen after a few years?
pa

En
_ BABTENTENNK I)

7. If a big change happens in a "Food Pyramid,"
what are the causes?

s

L BABETENTENNE !

notice : LMD <

activity : {KERZE)

number : £{
relationship : E§{%
food pyramid :

BEMESI YR

increase : EN9 %
decrease : JH4 9 5
shape : 2

happen : ¥2Z %

cause : |R2 X



